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A B 50 4.0

read(5,*)a, b
wite(6,10)a,b
10 fornat (1h , 2f5. 1)
c=atb
d=a-b
e=a*b
f=a/b
wite(6,20)c,de,f
20 format (1h , 4f10. 3)
stop
end

50 4.0

9. 0000 1. 000 20. 000 1. 250

() ¢ F K
F=32+1. 8C K=273. 16+C

25.5

X X X . X C

X X X . X F X X X . X K
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(2) (sin (cos tan
60. 0
sin(x x x . x)= X X X X
cos(x x x . x )= X X X X

tan(xxx_x):xxx_xxx

*okk ok ok kKA K *okk ok ok ok kK k
@)
| NTEGER
REAL
o IMPLIAT
AH OZ
[-N
IMLIAT INTER P-2) PZ
IMPLIAT
owite f or mat
wite 6,
f or nat
oformat ()
In n
18 - w-365 8
Fn, n
F7.2 - w3 14
Fn, n

El5.7 - u-0.2561093E+H03

1h
1h0 2
1lh+



(1)

(2)

s2

X

h3 ng s3

inplicit integer(a-z)
wite(*,*)"
read(*,*)hl, m, sl

wite(*,*)"
read(*, *) h2, n2, s2
k1=3600* h1+60* ni+s1
k2=3600* h2+60* n2+s2
k=k2-k1
h=k/ 3600
| =k- 3600* h
n+l / 60
s=1-60*m
wite(*,*)"
stop
end

365. 2422

1

X X X X X
1= X X X X X
2= X X X X X

8 17 46
hT mM si
h,ms
h,ms
I,h,l I,ml I,S,I
365
X X X
X X X
X X X
X X X

2006

hl ni, si
h2

s2

) h25



10

10
20

1 1 q @

read(*,*)n

read(*,*)a

g=a

s=a

do 10i=1,n-1
read(*,*)a
if(agt.g)g=a
if(alt.s)s=a

cont i nue

wite(*,*)" ', g

wite(*,*)" ',S

stop

end

2 ] o 30° 5°

wite(*,*)' x sin cos tan
r=3. 14159/ 180. 0
do 10 theta=0.0,30.0,5.0
x=r*thet a
s=si n(x)
c=Ccos( x)
t=tan(x)
wite(*,20)theta, s, c,t
cont i nue
format (" ',f3.0,3f9.6)
stop

end

2006



. ge.

Lot

2006

. ne.

goukei

(1) d[ nmj
d[ nmj
N d
1 1.97
2 201
3 1.98
4 2.03
5 202
(2 d[ nmj
hd s[ nm]
olF
IF
i f t hen
el se
end if
o]
It le . eq.
o DO
DO
do
cont i nue

do10x=2.0,3.0,0.25
10

hd



si kenl. dat

character nane*10
integer n,ten

real hei ki n, bunsan, hensa

open(uni t=1,fil e= sikenl. dat",
+ status="ol d')
open(uni t =6, fil e=' kekkal.txt")
n=0
hei ki n=0. 0
bunsan=0. 0
10 read(1, 1000, end=20)t en
1000 fornat (10x, i 3)
n=n+1
hei ki n=hei ki n+t en
bunsan=bunsan+t en**2
go to 10
20 hei ki n=hei ki n/ n
bunsan=( bunsan- n*hei ki n**2)/ (n-1)
hensa=bunsan**0. 5
write(6,2000)n
2000 for nat (" ',i5)
wr i t e( 6, 3000) hei ki n, bunsan, hensa
3000 fornat (' =,f10.3," =,
+ f10.3," =,f10.3)
stop
end

si kenl. dat)
S 85
[SH I 55

2006



2006

WATANRBE 67
TANAKA 26
KBAYAS 88
MYAGAMWA 67
KBAYASH 45

YAMMZAK 71
NAKAGAVWA 64

kekkal. dat )

10
= 64. 600 = 351.378 = 18. 745

(1)

*kkkkkkkk*k *kkkkkkkkk

od new unit= st at us= od



